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QUESTION 1

You are the Inventory Control Supervisor at your employer\\'s East Coast facility. Your employer is a 3PL,
and your customer is a large company that is also serviced out of the other 3PL facilities. As you start the
shift, your Inventory Control team members inform you of a significant change in the RF Cycle Counting
process.

Lost IBLPNs are now updates with a "00" lock code rather than the expected "LL" code.

Which scenario is causing this issue?

A. You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host
inventories.

B. Your counterpart at the 3PL\\'s other facility changed one of the cycle counting company parameters and that
impacted your workflow for that same company.

C. An inventory team member in the other facility marked a lost case with "00" lock code causing all subsequent lost
cases to be defaulted to the same code across all LPNs for all company/facility combinations.

D. While counting LPNSs at a location, one of your team members marked a lost case with the new lock code. The new
lock code is stored in system memory and applied to all IBLPNs counted as "Lost".

E. One of your inventory team members changed his/her RF parameter default lock code causing the same
configuration change to propagate to all users in the facility.

Correct Answer: D

QUESTION 2

Why is it necessary to have a consolidation location?

A. Consolidation locations are used to consolidate orders for a wave.

B. Packing using a Distribution transaction requires a consolidation location for each store.
C. Itis necessary if you want to consolidate while packing.

D. After you are finished picking your pick cart, you use a consolidation location to pack.

Correct Answer: D

QUESTION 3
As an Inventory Super User, you are configuring LPNs per tier and Tiers per Pallet fields at Iltem Details

screen.
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Which statement is true about LPNs per tier and Tiers per Pallet?
A. LPNs per tier and Tiers per Pallet are used to define number of Ob LPN per tier during shipping.
B. LPNs per tier and Tiers per Pallet are used to define number of IB LPN per tier during receiving.

C. LPNs per tier and Tier per Pallet are used to define the standard number of LPNs acceptable per pallet during
receiving.

D. LPNs per tier and Tiers per pallet are used to define the standard number of case and pack for an Item during
receiving.

Correct Answer: D

Reference: https://learn.oracle.com/ords/launchpad/learn?page=item-masterandcontext=0:44189:44200

QUESTION 4

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification
status mismatch.

Which three are valid? (Choose three.)

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively.

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation.
C. This error message will disappear if the RF screen parameter split-uom is left bank.

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction.

E. The from-IBLPN and the to-IBLPN might be received against the same ASN.

Correct Answer: BCE

QUESTION 5

Your customer wants to have the Purchase order created in their legacy ERP system and download it to
Oracle WMS Cloud.

Identify four mandatory field values that must be present in the Purchase order to be successfully
downloaded to the WMS Cloud system. (Choose four.)

A. Ship Date

B. IB Shipment
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C. License Plate Number
D. Vendor code

E. item

F. Item Quantity

G. Purchase Order Number

Correct Answer: DEFG
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